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Note : = (i) Answers may be written either in English or
- In Hindi; but the same medium should be used

L]

throughout the paper.

(@ The mazimum marks printed on the question
paper are applicable for the students of the

regular colleges (Cat. ‘A’). These marks will,
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however, be scaled up proportionately in respéct
of the students of NCWEB at the time of posting

of awards for compilation of result.
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Attempt any Five questions.

All questions carry equal marks.
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1. (q) Explain in b_rief the income method of

measurement of national income. Mention the
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difficulties involved in the use of income method

of measurement of national income. 9
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Is iricrease in national income an indicator of social

welfare ? Comment. . 6
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Explain Keynes’ psychological law of consumption.
What factors determine the proﬁensity to

consume ? 9
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(b) Distinguish between : . 6

() Induced investment and Autonomous

investment.
() Financial iﬁvestment and Real investment.
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@ Explain the working of investment multiplier
with the help of an example and diagram. Does
investment multiplier work in hoth the

directions ? 10
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In an economy with MPC being 4/5,

'ht;w much will be the increase in level

of income if investment increases by

100 crores ?

Find the equilibrium level of income and
level of consumption at equilibrium level.
C = 30 + .8 Y, autonomous investment = 50

crores, 5
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Calculate the equilibrium leve] of income from
the following data :

C=2300+.5Y,

Investment = 100 crores

Taxes = 200 crores

Government expenditure = 600 crores.

Find the level of consumption at equilibrium °

GDP. ' 6
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What is net export function ? Why is it negatively
related to the level of GDP ? What factors cause

shift in the net export function ? 9
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How is the aggregate dd curve derived with the

help of AE curves in short run ? 7
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What are aggregate supply shocks ? Explair;
the factors responsible for aggregate supply
shocks and how they affect equilibrium GDP
and price level - 8
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Discuss the role of money in a modern
econorny. " . 7
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What is inflationary gap ? How can the inflationary
gap be eliminated ? - 8
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Derive IS and LM curves. What happens to

equilibrium GDP and rate of interest when IS curve

shifts to right ? . 8
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(6) Using IS-LM model, derive "aggregate dd
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Write short notes on any two : TR, TV
(@) Long run aggregate supply curve;
(6) Components of balance of payments;

(¢) Credit creation by commercial banks;

(d) Aggregate demand shocks.
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